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All India Maha Mock UPTET Paper-II (Social Studies) 15-Jan-2022 (Hindi) 
 

Q1. निम्ननिनित में से कौि-सी प्रारंनिक बाल्यावस्था की नवशेषता िहीं है? 

(a) सामानिक प्रथाओं की िकि 

(b) तार्कि क और तकिसंगत सोच  

(c) समािांतर िेि 

(d) िाषा का तेिी से नवकास 

 

Q2. निम्ननिनित में से क्या बुनि के बारे में सत्य ह?ै 

(a) प्रगनतशीि व्यवहार अिकूुिि की प्रक्रिया। 

(b) िादईु नवचार प्रक्रिया। 

(c) मूि और उत्पादक नवचार। 

(d) संख्यात्मक रूप स ेव्यक्त िहीं क्रकया िा सकता ह।ै 

 

Q3. शारीररक समन्वय को प्रिानवत करिे वािी अनिगम अक्षमता ह:ै 

(a) निसग्राक्रिया 

(b) निस्िेनक्सया  

(c) निस्पैनसया 

(d) निस्पे्रनक्सया 

 

Q4. निम्ननिनित में से क्रकसिे बच्चों के संज्ञािात्मक नवकास के चार अिग-अिग चरणों की पहचाि की है? 

(a) नपयािे 

(b) कोहिबगि 

(c) एररक्सि 

(d) नस्किर 

 

Q5. एक प्रनतिाशािी बच्चा वह होता ह ैनिसका IQ स्कोर होता ह:ै 

(a) 110 से कम 

(b) 70 या इससे अनिक 

(c) 100 या इससे अनिक 

(d) 140 या इससे अनिक 

 

Q6. िब एक नशक्षक िाषा की कक्षा में कोई कनवता गाता है, तो वह निम्न का प्रयास कर रहा ह:ै 

(a) छात्रों को गािा गािे की किा नसिािा  

(b) छात्रों को पढ़िा और निििा नसिािा 

(c) छात्रों को ध्वनियों से पररनचत कराएं 

(d) नशक्षार्थियों को शब्दों को समझिा नसिािा  
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Q7. आंनशक पुिबििि के बारे में निम्ननिनित में से कौि सा कथि सही है? 

(a) इसे वास्तनवक कक्षा में िागू िहीं क्रकया िा सकता ह ै

(b) यह िािवरों को प्रनशनक्षत करिे में सबस ेअच्छा काम करता है  

(c) यह निरंतर पुिबििि से अनिक प्रिावी ह ै

(d) यह निरंतर पुिबििि से कम प्रिावी ह ै

 

Q8. िोिि प्राप्त करि ेके निए एक मनहिा द्वारा अपिे बच्चे को बेचिे के समाचार को इस आिार पर सबसे अच्छी तरह समझा 

िा सकता ह ै- 

(a) मिोवैज्ञानिक नसिातं 

(b) प्रबनित आकनस्मकताओं का नसिातं 

(c) मिोनवशे्लषणात्मक नसिांत 

(d) पदािुिनमत िरूरतों का नसिांत 

 

Q9. आिुवंनशकता और पयािवरण एक दसूरे के निए _________ हैं। 

A. आनित 

B. पूरक 

C. सहकारी  

(a) केवि A 

(b) केवि B 

(c) केवि C 

(d) ये सिी  

 

Q10. निम्ननिनित में से क्रकसिे निमािण और िोि का नसिांत क्रदया था? 

(a) वायगोत्स्की 

(b) िीि नपयाि े 

(c) कोहिबगि 

(d) अब्राहम मास्िो 

 

Q11. नपयािे का प्रस्ताव है क्रक पूवि-संक्रियात्मक बच्चे संरक्षण करिे में असमथि हैं। वह इस अक्षमता का िेय निम्ननिनित में स े

क्रकस एक कारण को देते हैं? 

(a) काल्पनिक-निगमिात्मक तकि  की अक्षमता 

(b) उच्च स्तरीय अमूति तकि  की कमी 

(c) व्यनक्तगत कनल्पत कहािी 

(d) नवचार की अपररवतििीयता 

 

Q12. _______ में दो रूप होते हैं, नििमें से प्रत्येक में 45 स्याही के िब्ब ेहोते हैं। व्यनक्त को केवि एक प्रनतक्रिया की अिुमनत ह ै

और स्कोररंग अनिक उद्देश्यपूणि ह।ै  

(a) रोशािि टेस्ट 

(b) होल्ज़मैि स्याहीिब्बा तकिीक 

(c) नगििोिि टेस्ट 

(d) कैनििोर्ििया मिोवैज्ञानिक सचूी 

http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


3       www.teachersadda.com    |   www.sscadda.com   |    www.bankersadda.com     |    www.adda247.com 

 
 

 

Q13. _________ उत्तेििाओं के एक मािक सेट का उपयोग करते हैं, िसैे क्रक अिरूा वाक्य, नचत्र या स्याही के िब्ब ेिो अपेक्षाकृत 

अस्पष्ट होते हैं। 

(a) पेंनसि और पेपर टेस्ट 

(b) प्रोिेनक्टव नवनि 

(c) व्यनक्तत्व परीक्षण 

(d) उपरोक्त में से कोई िहीं 

 

Q14. आरटीई (नशक्षा का अनिकार) की क्रकस िारा के तहत 6 से 14 साि के बच्चों को 8वीं तक निशुल्क नशक्षा नमिती ह?ै 

(a) िारा 5 

(b) िारा 4 

(c) िारा 13 

(d) िारा 3 

 

Q15. निक्षािि-अनिगम का सबसे प्रिावी तरीका निम्ननिनित में से कौि सा है? 

(a) नवशे्लषण के नबिा अविोकि 

(b) िकि और दोहराव 

(c) सामग्री को रट्टा मारकर याद करिा  

(d) अविारणाओं के बीच सबंंिों की िोि 

 

Q16. एक नशनक्षका को क्रकसी क्रदए गए कायि पर छात्रों द्वारा की गई नवनिन्न त्रुरटयों का नवशे्लषण करिा चानहए क्योंक्रक 

(a) वह उि िोगों को अिग कर सकती है निन्होंिे दसूरों की तुििा में अनिक त्रुरटयां की हैं। 

(b) अनिगम पूरी तरह स ेत्रुरटयों के सुिार पर आिाररत ह।ै 

(c) वह तदिुसार दंि की सीमा तय कर सकती ह।ै 

(d) नशक्षण-अनिगम प्रक्रिया में त्रुरटयों की समझ साथिक ह ै

 

Q17. छात्रों के बीच अविारणात्मक समझ में उस सेरटंग में सुिार होिे की संिाविा ह ैिो ____ पर िोर दतेी ह ै

(a) िगातार परीक्षाए ं

(b) पूछताछ और संवाद 

(c) प्रनतयोनगताएं 

(d) पाठ्यपुस्तक कें क्रित नशक्षाशास्त्र  

 

Q18. बच्चों के निए सीििा मुनश्कि होता ह ैिब 

(a) सीििा सामानिक रूप से प्रासंनगक ह।ै 

(b) सामग्री को कई तरीकों से दशािया िाता ह।ै 

(c) निस्किेक्ट क्रकए गए नहस्सों में िािकारी प्रस्ततु की िाती ह।ै 

(d) वे आंतररक रूप से प्रेररत होते हैं। 

 

Q19. यह देििे के बाद क्रक छात्र क्रकसी चि रही गनतनवनि पर आग ेबढ़ि ेके निए सघंषि कर रह ेहैं, एक नशक्षक क्या, क्यों, कैस ेके 

रूप में संकेत प्रदाि करिे का निणिय िेता ह।ै िेव वायगोत्स्की के नसिातं के अिुसार, नशक्षक की यह रणिीनत होगी 

(a) छात्रों के बीच वापसी की प्रवृनत्त का कारण बिता ह।ै 

(b) अनिगम की प्रक्रिया में अथिहीि होिा। 

(c) बच्चों को अनिगम के निए पे्रररत करिा। 

(d) अनिगम के निए एक मचाि के रूप में कायि करें। 
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Q20. निस्िेनक्सया से ग्रस्त बच्चों की पहचाि क्रकसके द्वारा की िा सकती है? 

(a) उिके पढ़िे और निििे के कौशि का नवशे्लषण। 

(b) िरटि उच्च-िम की समस्याओं को हि करिे की उिकी क्षमता का आकिि करिा। 

(c) उिके सामानिक और सासं्कृनतक संदिि का पता िगािा। 

(d) शारीररक स्वास््य िांच के माध्यम से। 
 

Q21. एक बाि केनन्ित कक्षा वह होती ह ैनिसमें 

(a) नशक्षक बच्चों के व्यवहार को निदेनशत करि ेके निए पुरस्कार और दंि का उपयोग करता ह।ै 

(b) नशक्षक िचीिा ह ैऔर व्यनक्तगत बच्चों की िरूरतों को पूरा करता ह।ै 

(c) नशक्षक पाठ्यपुस्तक का उपयोग ज्ञाि के एकमात्र स्रोत के रूप में करता ह।ै 

(d) नशक्षक बच्चों को उिकी क्षमताओं के आिार पर अिग करता ह।ै 
 

Q22. हॉविि गािििर के बहु-बुनि के नसिांत के अिुसार निम्ननिनित में से कौि-सी बुनि और अंत- प्रदशिि संिाविाओं का एक 

सही सुमेनित युग्म ह?ै 

इंटेनििेंस के प्रकार एंि-स्टेट परिॉमेंस संिाविा 

(a) िाषाई - मूर्तिकार 

(b) शारीररक-कीिेस्थेरटक - एथिीट 

(c) स्थानिक - नचक्रकत्सक 

(d) इंट्रा-पसििि सेल्सपसिि 
 

Q23. नवकिांग व्यनक्तयों के अनिकार अनिनियम (2016) के अिुसार, निम्ननिनित में से क्रकस शब्द का प्रयोग करिा उनचत है? 

(a) शारीररक अक्षमता वाि ेछात्र 

(b) अपंग शरीर वािा छात्र 

(c) मंद छात्र 

(d) नवकिांग छात्र 
 

Q24. िीि नपयािे के अिसुार औपचाररक संक्रियात्मक अवस्था में बच्चे 

(a) संरनक्षत, वगीकृत और अिग िहीं कर सकता 

(b) नवश्वास और प्रतीकात्मक िेि में संिग्न होिा शुरू करें। 

(c) काल्पनिक-निगमिात्मक तकि  और प्रस्तावक नवचार करिे में सक्षम हैं। 

(d) कें ि से बंिे हैं और नवचार के अपररवतििीय हैं। 
 

Q25. व्यनक्तत्व व्यनक्त के िीतर उि मिो-िौनतक गुणों का गनतशीि संगठि ह ैिो पयािवरण में उसके अनद्वतीय समायोिि को 

नििािररत करता ह।ै' दी गई पररिाषाएँ 

(a) नस्किर 

(b) एस फ्रायि 

(c) िी िब्ल्यू ऑिपोटि 

(d) िे ई िेसीि े
 

Q26. िब क्रकसी व्यनक्त की एक नस्थनत के बारे में अनिगम उसके सीििे और दसूरी नस्थनत में प्रदशिि को प्रिानवत करता है, तो 

उसे कहा िाता ह ै

(a) चचंति 

(b) स्मृनत 

(c) अनिगम हस्तांतरण 

(d) बौनिक नवकास 
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Q27. बुनि के नत्र-आयामी नसिांत का प्रनतपादक ह ै

(a) केटि 

(b) कटि िेनवि 

(c) नगििोिि 

(d) नबि े
 

Q28. निम्ननिनित में से क्रकसमें सुिार करि ेके निए नशक्षण के निए मािनसक उत्तेििा मॉिि का उपयोग क्रकया िाता है? 

(a) ज्ञाि 

(b) अिुप्रयोग 

(c) रचिात्मकता  

(d) अनिपे्ररणा 
 

Q29. आपकी कक्षा में एक िड़का हमेशा अच्छे अंक प्राप्त करता है, वह शारीररक रूप से िी बहुत क्रिट ह ैिेक्रकि उसे अक्सर 

आपके अिुसार कक्षा में िड़ि ेकी सिा नमिती ह ै

(a) िड़के को संज्ञािात्मक नवकास में और अनिक काम करिे की िरूरत ह।ै 

(b) िड़के को िावात्मक नवकास में काम करि ेकी िरूरत ह।ै 

(c) िड़के को सामानिक नवकास में काम करि ेकी िरूरत ह।ै 

(d) िड़के को िाषा नवकास में काम करि ेकी िरूरत ह।ै 
 

Q30. निम्ननिनित में से क्रकसिे सामानिक रचिावाद दशिि पर अत्यनिक बि क्रदया? 

(a) वायगोत्स्की 

(b) नस्किर 

(c) िेवी  

(d) नपयािे  
 

Directions (31-50): निम्ननिनित प्रश्नों को ध्यािपूविक पक्रढ़ए और प्रश्नों के उत्तर देिे के निए उनचत नवकल्प का चयि 

कीनिए।  
 

Q31. ‘मैं नशवा के निए चाय बिा रहा ह’ँ इस वाक्य में कौि सा कारक है?  

(a) अनिकरण कारक  

(b) अपादाि कारक  

(c) संबंि कारक  

(d) संप्रदाि कारक  
 

Q32. ‘नगरीश’ शब्द में कौि सी संनि ह?ै  

(a) गुण संनि  

(b) वृनि संनि  

(c) यण संनि  

(d) दीघि संनि  
 

Q33. महािारत एक महाि ग्रन्थ ह।ै इस वाक्य में संज्ञा का कौि सा रूप है? 

(a) िव्यवाचक संज्ञा 

(b) िाववाचक संज्ञा 

(c) व्यनक्तवाचक संज्ञा 

(d) समूहवाचक  
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Q34.’सवेक्षण’ शब्द का संनि नवच्छेद है-  

(a) सवि + अक्षण  

(b) सव + ईशण  

(c) सवि + ईक्षण  

(d) इिमें से कोई िहीं 

 

Q35. वह कौि ह ैिो रो पड़ा। इस वाक्य में सवििाम का कौि सा िेद है?  

(a) अनिश्चयवाचक सवििाम 

(b) संबंिवाचक सवििाम  

(c) निश्चयवाचक सवििाम 

(d) पुरुषवाचक सवििाम 

 

Q36. निम्न में से तद्भव शब्द का चयि कीनिए।  

(a) नछि  

(b) उल्िास  

(c) गेह ँ 

(d) ग्रंनथ  

 

Q37. ‘यथावनि’ में कौि सा समास ह।ै 

(a) अव्ययीिाव समास  

(b) तत्पुरुष समास  

(c) नद्वगु समास  

(d) द्वदं्व समास  

 

Q38. ‘मैं िािता ह ँकी तुम्हारे अक्षर अच्छे िहीं बिते’ इसमें वाक्य का कौि सा िेद है?  

(a) सरि वाक्य  

(b) संयुक्त वाक्य  

(c) नमनित वाक्य  

(d) इिमें से कोई िहीं  

 

Q39. ‘अट्टहास’ क्रकसका संनक्षप्तीकरण है?  

(a) निस हसँी से अट्टानिका िी नहि िाय े 

(b) िो अपिी िगह से ि निगे  

(c) क्रकसी बात या कथि को बढ़ा-चढ़ा कर कहिा  

(d) िमि या शास्त्र के नवरुि कायि  

 

Q40. निम्न में से क्रकस शब्द की वतििी अशुि है?  

(a) अिन्योपाय  

(b) अनिविचिीय  

(c) अपकषि  

(d) अमािूनषक  
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Q41.निम्ननिनित में से अशुि वाक्य का चयि कीनिए।  

(a) आपके दशिि कब होंगें।  

(b) सारे देशिर में अकाि ह।ै 

(c) कुत्ते रात में िौंकते रह।े 

(d) वह कक्षा का सवोत्तम छात्र ह।ै  

 

Q42. ‘ऐसी उनक्त िो परंपरागत हो’ इस वाक्यांश के निए एक शब्द का चयि कीनिए।  

(a) िोककथा  

(b) िििुनत  

(c) अिुिुनत  

(d) प्रवाद  

 

Q43.’िूि का घूंट पीिा’ मुहावरे के अथि का िीच ेक्रदए गए नवकल्पों में से चयि कीनिए।  

(a) िोि करिा  

(b) रूठ िािा  

(c) ईर्षयाि करिा  

(d) िोि दबािा  

 

Q44. ‘को’ क्रकस कारक की नविनक्त है?  

(a) कताि  

(b) अपादाि  

(c) अनिकरण  

(d) संप्रदाि  

 

Q45. निम्न में से क्रकस शब्द में नद्वत्व का प्रयोग हुआ है?  

(a) संसार  

(b) मत्स्य  

(c) नचट्ठी  

(d) कथि  

 

Q46. सही नवकल्प को चिुकर निम्ननिनित वाक्य के ररक्त स्थाि की पूर्ति कीनिए।  

घी का िड्िू _____िी ििा। 

(a) सीिा  

(b) िम्बा  

(c) टेढ़ा  

(d) उल्टा  

 

Q47. ’पररर्षकार’ शब्द का सनंि नवच्छेद है?  

(a) परर : + कार  

(b) परीश + कार  

(c) परी : + कार  

(d) परीष् + कार  
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Q48. निम्न में से क्रकस शब्द में ‘अि’ उपसगि िहीं है?  

(a) अििाि  

(b) अिमोि  

(c) अिहोिी  

(d) अिुकूि  

 

Q49. निम्न में से अशुि वतििी का चयि कीनिए। 

(a) िनवतव्यता  

(b) तोयनिनि  

(c) सहिर्मिणी  

(d) स्प्रहा  

 

Q50. ‘पनवत्र’ शब्द में कौि सी संनि ह?ै  

(a) यण संनि  

(b) वृनि संनि  

(c) अयाक्रि संनि  

(d) दीघि संनि  

 

Q51. वह कौि से वाचि ह ैिो गध्य मे प्रयुक्त होता ह,ै परंतु पध्य मे िहीं - 

(a) मौि वाचि  

(b) आदशि वाचि  

(c) अिुकरण वाचि  

(d) समवेत वाचि  

 

Q52.आगमि नवनि निम्न मे से क्रकस नशक्षण सूत्र पर आिाररत ह ै- 

(a) उदाहरण से नियम की ओर  

(b) अज्ञात से ज्ञात की ओर  

(c) नियम से उदाहरण की ओर  

(d) शूक्षम से स्थूि की ओर  

 

Q53.िाषा अनिगम के कारण होते ह ै- 

(a) िाषा नवज्ञाि  

(b) व्याकरण  

(c) िाषा कौशि  

(d) उपयुिक्त सिी  

 

Q54.नहन्दी िाषा मे स्वरों की संख्या होती ह ै- 

(a) 11  

(b) 12  

(c) 13  

(d) 14  
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Q55.बािक को क्रकस सोपाि से पता चिता ह ैकी उसे क्या पढ़िा है-  

(a) अिुकरण वाचि  

(b) आदशि वाचि  

(c) प्रस्ताविा  

(d) सपष्टीकरण  
 

Q56. ध्वनि नवज्ञाि का संबिं क्रकस स ेहोता ह ै- 

(a) पठि कौशि  

(b) िवण कौशि  

(c) िेिि कौशि  

(d) उपरोक्त मे से कोई िहीं  
 

Q57. निम्न से कौि सा संरचिा का रूप ह ै-  

(a) वाक्य रूप  

(b) सूत्र रूप  

(c) कहावत रूप  

(d) ये सिी  
 

Q58. बािक सविप्रथम कौि सी क्रिया सीिता ह ै- 

(a) िाव प्रदशिि  

(b) पढ़िा  

(c) निििा  

(d) चििा  
 

Q59.संरचिात्मक पिनत मे क्रकस पर बाि क्रदया िाता ह ै- 

(a) छात्रों की क्रियाशीिता  

(b) वाचि  

(c) िाषाई नवकास  

(d) उपयुक्त सिी  
 

Q60. एक समावेशी कक्षा म ेकौि सा कथि िाषा नशक्षण के नसिातंों के प्रनतकूि ह ै- 

(a) व्याकरण के नियम सीििे से बच्चों का िाषा नवकास िल्दी होगा  

(b) बच्चे पररवेश से प्राप्त िाषा को ग्रहण करते हुए िाषा प्रयोग के नियम बिा सकते ह ै 

(c) िाषा पररवेश मे रहकर अर्िित की िाती ह ै 

(d) नप्रन्ट समृि माहौि िाषा सीििे मे सहायक होता है  
 
Directions (61-63): The questions below consist of a set of labelled sentences. Out of the four options 
given, select the most logical order of the sentences to form a coherent paragraph. 
 
Q61. P- And slowly, you reach the pinnacle of self-awareness, experiencing a unity with all life. 
Q- If you transform your energy positively, it naturally becomes compassion and love. 
R- Once you experientially are a part of everything then nobody needs to teach you morality. 
S- Then you can do something to improve the situation, but without anger. 
(a) PQRS 
(b) QPRS 
(c) RQPS 
(d) RSPQ 
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Q62. P-The Economic Survey highlighted the effect of labor reforms in Rajasthan, suggesting that. 
Q- At a higher rate than the rest of the country after labor reforms. 
R- The growth rates of firms employing more than 100 workers increased. 
S-But worker organizations claim that the implementation of such stringent labor laws in most States is 
generally lax. 
(a) PRSQ 
(b) PRQS 
(c) RQPS 
(d) RSPQ 
 
Q63. P- Rights rather than rushing through them. 
Q-A broader consensus on any major rule changes to existing worker. 
R-In such a situation, the government should be better off building. 
S- For the sake of simplification. 
(a) RPSQ 
(b) QPRS 
(c) RQPS 
(d) SRQP 
 
Directions (64-68): In the following passage, some of the words have been left out. Read the passage 
carefully and select the correct answer for the given blank out of the four alternatives. 
 
India’s second moon mission, Chandrayaan-2, was ______________ from launch just 56 minutes before its 
scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-III rocket launcher. No 
_____________ date has been announced for launch. This has no doubt served as a ___________ on those who 
eagerly looked forward to India being only the fourth country to launch a mission that would land on the 
moon, and the very first to land and explore its south pole region. Yet, it was best that the glitch was 
discovered before the launch. Rocket launches always have a ____________ finish. Even the GSLV-D1, the 
slighter predecessor to the GSLV Mark-III, suffered such a ____________ when it was about to be launched 
for its first developmental test flight in 2001.  
 
Q64. India’s second moon mission, Chandrayaan-2, was ______________ from launch just 56 minutes before 
(a) pushed back 
(b) hold back 
(c) pulled back 
(d) called back 
 
Q65. No _____________ date has been announced for launch. 
(a) expiry 
(b) rescheduled 
(c) confirming 
(d) auspicious 
 
Q66. This has no doubt served as a ___________ on those who eagerly looked forward to India being only 
the fourth country to launch a mission. 
(a) pioneer 
(b) crusader 
(c) proponent 
(d) damper 
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Q67. Rocket launches always have a ____________ finish. 

(a) dud 

(b) nail-biting 

(c) hideous 

(d) head-scratching 

 

Q68. Even the GSLV-D1, the slighter predecessor to the GSLV Mark-III, suffered such a ____________ when it 

was about to be launched 

(a) setback 

(b) feedback 

(c) lowbrow 

(d) backlash 

 

Directions (69-73): In the following questions, a sentence / a part of the sentence is in bracket. Below 

are given alternatives to the bracketed part which may improve the sentence. Choose the correct 

alternative. In case no improvement is required, choose "No Improvement" option.  

 

Q69. I intend (to make) hefty returns from stock market. 

(a) to making 

(b) make 

(c) to made 

(d) No improvement 

 

Q70. Hardly (did Kishan reached his house when) his son wished him. 

(a) Kishan reached his house when 

(b) did Kishan reach his house when 

(c) did kishan reach his house as 

(d) No improvement 

 

Q71. What (you have been doing) in the academy since last month?  

(a) have you done  

(b) you have done  

(c) have you been doing  

(d) No improvement 

 

Q72. If I (would have known) the truth I would have admitted it.  

(a) had known  

(b) have known  

(c) know  

(d) No improvement 

 

Q73. Members usually meet in (one another’s) homes.  

(a) anothers’s  

(b) each another’s  

(c) every other’s  

(d) No improvement 
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Directions (74-76): In the following question, a sentence has been given in Direct/Indirect speech. Out 
of the four alternatives suggested, select the one which best expresses the same sentence in 
Indirect/Direct speech 
 
Q74. Kiran asked me, “Did you see the cricket match on television last night.  
(a) Kiran asked me whether I saw the cricket match on television the earlier night.  
(b) Kiran asked me whether I had seen the cricket match on television the earlier night.  
(c) Kiran asked me did I see the cricket match on television last night.  
(d) Kiran asked me whether I had seen the cricket match on television last night. 
 
Q75. Rajesh requested me to bring him some oranges.  
(a) He said, “Rajesh, please bring me some oranges.”  
(b) Rajesh said, “Will you bring me some oranges.” 
(c) Rajesh said to me, “Please bring me some oranges”. 
(d) “Please bring my friend some oranges”, said he 
 
Q76. He said, “I am building a robot.”  
(a) He said that I am building a robot.  
(b) He said that he is building a robot.  
(c) He said that the robot is being built.  
(d) He said that he was building a robot. 
 
Directions (77-80): In the following questions, a sentence has been given in Active/Passive Voice. Out of 
the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active 
Voice. 
 
Q77. Go away now. 
(a) You are requested to go away now. 
(b) You are suggested to go away now. 
(c) You are ordered to go away now. 
(d) You are allowed to go away now. 
 
Q78.The guidelines provide instructions on procuring AGMARK quality items for preparation of midday 
meals. 
(a) Instructions have been provided by the guidelines on procuring AGMARK quality for preparation of 
midday meals. 
(b) Instructions on procuring AGMARK quality items are provided by the guidelines for preparation of 
midday meals. 
(c) Instructions on procuring AGMARK quality items are being provided by the guidelines for preparation 
of midday meals. 
(d) Instructions are being provided by the guidelines to procure AGMARK quality items for preparation of 
midday meals. 
 
Q79. Let me sit. 
(a) It is suggested that I sit. 
(b) I should be sitting. 
(c) I may be allowed to sit. 
(d) I will be sitting. 
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Q80. The lion was running after the deer. 
(a) The deer was being run after by the lion. 
(b) The deer is being run after by the lion. 
(c) The deer was been run after by the lion. 
(d) The lion was being run after by the deer. 
 
Directions (81-85): Read the following passage carefully and choose the most appropriate answer to the 
question out of the four alternatives. 
 
The Union Environment Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification, an 
international recognition conferred on beaches that meet certain criteria of cleanliness and 
environmental propriety. 
These beaches are at Shivrajpur (Gujarat), Bhogave (Maharashtra), Ghoghla (Diu), Miramar (Goa), 
Kasarkod and Padubidri (Karnataka), Kappad (Kerala), Eden (Puducherry), Mamallapuram (Tamil Nadu), 
Rushikonda (Andhra Pradesh), Golden (Odisha), and Radhanagar (Andaman & Nicobar Islands). 
“To achieve the internationally recognised highest standard for the purpose of beach management, 
planning and execution of projects for infrastructure development, cleanliness, safety and security 
services, these beaches have been identified for Blue Flag certification in different States and Union 
Territories,” reads a notification by the Ministry. The Blue Flag programme for beaches and marinas is 
run by the international, non-governmental, non-profit organisation FEE (the Foundation for 
Environmental Education). It started in France in 1985 and has been implemented in Europe since 1987, 
and in areas outside Europe since 2001, when South Africa joined. Japan and South Korea are the only 
countries in South and southeastern Asia to have Blue Flag beaches. Spain tops the list with 566 such 
beaches; Greece and France follow with 515 and 395, respectively. 
There are nearly 33 criteria that must be met to qualify for a Blue Flag certification, such as the water 
meeting certain standards such as waste disposal facilities, disabled-friendly facilities, first aid equipment 
and no access to pets in the main areas of the beach. Some criteria are voluntary and some compulsory. 

India is set to apply for certification for two beaches, at Shivrajpur and Ghoghla, by July-end. About ₹20 
crore have been spent on each and the FEE jury will decide by October if these beaches meet the mark, an 
official in the Ministry told The Hindu. 

 
Q81. Which organisation runs the ‘Blue Flag’ programme? 
(a) United Nations Environment Programme 
(b) United Nations Development Programme 
(c) Foundation for Environmental Education 
(d) World Health Organisation 
 
Q82. Which Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification? 
(a) Union Environment Ministry 
(b) Union Ministry of Home Affairs 
(c) Union Defense Ministry 
(d) Union Finance Ministry 
 
Q83. Which two beaches are set to apply for ‘Blue Flag’ certification by July-end? 
(a) Shivrajpur and Bhogave 
(b) Bhogave and ghoghla 
(c) Shivrajpur and Ghoghla 
(d) Bhogave and Miramar 
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Q84. How many beaches of Spain has been given the ‘Blue Flag’ certification? 

(a) 566 

(b) 576 

(c) 515 

(d) 395 

 

Q85. Which among the following statements is not correct? 

(a) There are nearly 33 criteria that must be met to qualify for a Blue Flag certification. 

(b) Spain tops the list with 566 such beaches; Greece and France follow with 505 and 385, respectively. 

(c) It started in France in 1985 and has been implemented in Europe since 1987, and in areas outside 

Europe since 2001, when South Africa joined. 

(d) The Blue Flag programme for beaches and marinas is run by the international, non-governmental, 

non-profit organisation FEE. 

 

Directions (86-90): In the following questions, some part of the sentence may have errors. Find out 

which part of the sentence has an error and select the appropriate option. If a sentence is free from error, 

select 'No Error'. 

 

Q86. People express their expectations (A)/ that their leaders should not (B)/ resorting to corrupt 

practices and nepotism, (C)/ No Error (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q87. Asian culture will, sooner or later (A)/ become international norm (B)/ for entertainment industry. 

(C)/ No Error (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q88. Hectic schedules can (A)/ take a toll on anybody and the solutions to this is (B)/ a quick holiday to 

any exotic location. (C)/ No error (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q89. The number of marks (A) / carried by each question (B) / are indicated at the end of the question. 

(C) / No error (D) 

(a) A 

(b) B 

(c) C 

(d) D 
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Q90. Inspite that organisations are aware (A)/ of the importance of IT they often do not know (B)/ how 

to deploy it effectively. (C)/ No error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q91. िारत के संनविाि में 44वा ंसंशोिि निम्ननिनित में से क्रकस प्रिाि मंत्री के कायिकाि के दौराि क्रकया गया था? 

(a) इंक्रदरा गांिी 

(b) चंि शेिर 

(c) चौिरी चरण चसंह 

(d) मोरारिी देसाई 

 

Q92. पृ्वी का कुि िूनम क्षते्रिि प्रनतशत ह ै- 

(a) 32.0 

(b) 30.3  

(c) 29.0 

(d) 28.4  

 

Q93. वायुमण्िि की सबसे निचिी परत ह-ै 

(a) समताप मंिि 

(b) क्षोिमंिि 

(c) आयिमंिि 

(d) ओिोिोस्िीयर 

 

Q94. उत्तर वैक्रदक काि में आयि संस्कृनत का केन्िीय स्थाि था - 

(a) सप्त - सैंिव प्रदेश 

(b) गंगा के दोआब - यमुिा 

(c) मगि 

(d) िेक्कि 

 

Q95. िारतीय इनतहास में क्रकस काि को 'शास्त्रीय युग' कहा गया ह?ै 

(a) गुप्त काि 

(b) कुषाण काि 

(c) मौयि काि 

(d) मुगि काि 

 

Q96. सम्राट अशोक के क्रकस प्रमुि नशिािेि में हमें पड़ोसी देशों का वणिि नमिता ह?ै 

(a) पहिा 

(b) पांचवां 

(c) आठवां 

(d) तेरहवें 
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Q97. नहन्दसु्ताि ग़दर पाटी की स्थापिा क्रकस वषि में हुई थी?  

(a) 1916 

(b) 1925  

(c) 1913 

(d) 1922  

 

Q98. शेरशाह सूरी का अंनतम अनियाि क्रकसके शासक के नवरुि था? 

(a) काचिंिार 

(b) मारवाड़ 

(c) रणथंिौर 

(d) मािवा 

 

Q99. प्रस्ताविा के संबंि में िारतीय संनविाि में संशोिि क्रकस वषि क्रकया गया था? 

(a) 1975 

(b) 1976  

(c) 1978 

(d) 1992  

 

Q100. िारतीय संनविाि में मौनिक कतिव्यों को क्रकस सनमनत की नसिाररशों के आिार पर शानमि क्रकया गया ह?ै 

(a) सरदार सवरि चसंह सनमनत 

(b) अशोक मेहता सनमनत 

(c) साक्रदक अिी सनमनत 

(d) हगेडे़ सनमनत 

 

Q101. सती प्रथा का सबसे पहिा उल्िेि निम्ननिनित में से क्रकस नशिािेि में नमिता ह?ै 

(a) इिाहाबाद स्तंि नशिािेि 

(b) िािुगुप्त का एरण नशिािेि 

(c) पुिकेनसि II का ऐहोि अनििेि 

(d) स्कंदगुप्त का िीटि अनििेि 

 

Q102. बीबी का मकबरा __________ में नस्थत एक मकबरा ह।ै इसे औरंगिेब के बेटे आिम शाह िे 1678 में बिवाया था। 

(a) हदैराबाद 

(b) औरंगाबाद 

(c) िििऊ 

(d) इिाहाबाद 

 

Q103. गांिी को "महात्मा" की उपानि क्रकसिे दी? 

(a) रवींििाथ टैगोर 

(b) बी िी नतिक 

(c) पंनित िवाहरिाि िहेरू 

(d) सरदार वल्िििाई पटेि 
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Q104. िब साइमि कमीशि िारत आया तो वायसराय था 

(a) िॉयि िॉिि 

(b) िॉिि इरनवि 

(c) िािि रीचिंग 

(d) िॉिि ररप्प्न 

 

Q105. निम्ननिनित में से कौि-सा युग्म सुमेनित िहीं ह?ै 

(a) िहांगीर: नवनियम हॉक्रकन्स  

(b) अकबर: सर थॉमस रो 

(c) शाहिहाँ: टै्रवर्िियर 

(d) औरंगिेब: मिुची 

 

Q106. निम्ननिनित घटिाओं का सही िम क्या ह?ै 

1. िििऊ समझौता 

2. द्विै शासि का पररचय 

3. रॉिेट एक्ट 

4. बंगाि का नविािि 

िीचे क्रदए गए कूटों में स ेसही उत्तर चुनिए: 

कोि: 

(a) 1, 3, 2, 4  
(b) 4, 1, 3, 2 
(c) 1, 2, 3, 4  
(d) 4, 3, 2, 1 
 

Q107. निम्ननिनित में स ेक्रकसिे 'िाइट हुि' की उपानि को अस्वीकार कर क्रदया और िारत के निए राज्य सनचव की पररषद में 

एक पद स्वीकार करिे से इिकार कर क्रदया? 

(a) मोतीिाि िेहरू 

(b) एम.िी. रािाि े

(c) िी.के. गोिि े

(d) बीिी नतिक 

 

Q108. निम्ननिनित में से क्रकस स्रोत का िारत में नबििी उत्पादि में सबसे बड़ा नहस्सा ह?ै 

(a) परमाणु शनक्त 

(b) थमिि पावर  

(c) हाइड्रो पावर 

(d) पवि ऊिाि 

 

Q109. निम्ननिनित में से क्रकस देश में सबसे अनिक ििकूप पाए िाते हैं? 

(a) िारत 

(b) सऊदी अरब 

(c) अमेररका 

(d) चीि 
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Q110. निम्ननिनित में से क्रकस राज्य में पनश्चमी नवक्षोि के कारण वषाि होती ह?ै 

(a) पंिाब 

(b) पनश्चम बंगाि 

(c) केरि 

(d) गुिरात 

 

Q111. पनश्चमी घाट और पूवी घाट दोिों में पयािप्त वषाि क्यों होती ह ैिेक्रकि दक्कि के पठार में कम वषाि होती ह?ै 

(a) यह एक वषाि छाया क्षेत्र ह ै

(b) यह हवा की क्रदशा के समािांतर नस्थत ह ै

(c) यह तट से दरू ह ै

(d) वषाि वाि ेबादि अिुपनस्थत हैं 

 

Q112. पृ्वी और चंिमा के बीच के स्थाि को _____ के रूप में िािा िाता ह ै

(a) नसस्िुअर  

(b) िुििुिार 

(c) िेबुिा 

(d) इिमें स ेकोई िहीं 

 

Q113. सामान्यत: राज्यपाि का संबंि होता ह ै

(a) वह राज्य िहां वह तिैात ह ै

(b) कोई अन्य राज्य 

(c) िारतीय प्रशासनिक सेवा 

(d) उपरोक्त में से कोई िहीं 

 

Q114. संघ सूची में शानमि हैं: 

(a) 66 आइटम 

(b) 97 आइटम 

(c) 47 आइटम 

(d) 100 आइटम 

 

Q115. 1931 में िारतीय राष्ट्रीय कांग्रेस के कराची अनिवेशि के निए, निसकी अध्यक्षता सरदार पटेि ि ेकी थी, मौनिक 

अनिकारों और आर्थिक कायििम पर प्रस्ताव का मसौदा क्रकसिे तैयार क्रकया था? 

(a) महात्मा गांिी 

(b) पंनित िवाहरिाि िेहरू 

(c) िॉ रािेंि प्रसाद 

(d) िॉ बी आर अंबेिकर 

 

Q116. पूिा पैक्ट, 1932 के संबंि में निम्ननिनित में से कौि सा एक सही िहीं ह?ै 

(a) सरकारी िौकररयों में दनित वगों का पयािप्त प्रनतनिनित्व 

(b) प्रांतीय नविानयका में दनित वगों के निए सीटों का आरक्षण 

(c) संयुक्त निवािचि प्रणािी की स्वीकृनत 

(d) कें िीय नविानयका में दनित वगों के निए सीटों का आरक्षण 
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Q117. िंदि में प्रथम गोिमेि सम्मेिि आयोनित करिे वाि ेनब्ररटश प्रिाि मंत्री कौि थे? 

(a) चर्चिि 

(b) रामसे मैकिॉिल्ड्स 

(c) चेम्बरिेि 

(d) निसरायिी 

 

Q118. हररत िानंत का प्रिाव सबसे अनिक क्रकसके मामिे में महसूस क्रकया गया? 

(a) गेह ं

(b) चावि 

(c) दािें 

(d) तेि बीि 

 

Q119. िारत की सबसे बड़ी प्रायद्वीपीय िदी कौि सी ह?ै 

(a) कृर्षण 

(b) गोदावरी 

(c) कावेरी 

(d) महािदी 

 

Q120. ग्रेट नहमाियि िेशिि पाकि  क्रकस राज्य में ह?ै 

(a) िम्मू और कश्मीर 

(b) अरुणाचि प्रदेश 

(c) नहमाचि प्रदेश 

(d) नसक्रक्कम 

 

Q121. सूयि को अपिी ऊिाि कैसे नमिती ह?ै 

(a) गुरुत्वाकषिण दबाव से 

(b) परमाणु नविंिि से 

(c) परमाणु संियि स े

(d) पृ्वी स ेआकषिण के कारण 

 

Q122. संसद में अपिी राय देिे के निए क्रकस पदानिकारी को आमंनत्रत क्रकया िा सकता ह?ै 

(a) कैनबिेट सनचव 

(b) िारत के मुख्य न्यायािीश 

(c) िारत के मुख्य चुिाव आयोग 

(d) िारत के महान्यायवादी 

 

Q123. "कें िीय िुक्रिया और िांच ब्यूरो" िारत के संनविाि में सातवीं अिुसूची में दी गई __________ सूची में सूचीबि ह।ै 

(a) संघ 

(b) राज्य 

(c) वैनश्वक 

(d) समवती 
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Q124. िोकसिा का सत्रावसाि करिे की शनक्त क्रकसके पास ह?ै 

(a) अध्यक्ष 

(b) प्रिाि मंत्री 

(c) संसदीय मामिों के मंत्री 

(d) राष्ट्रपनत 

 

Q125. दो िू-िागों को नमिािे वािी िूनम की एक सकंरी पट्टी कहिाती ह-ै 

(a) िििमरूमध्य 

(b) स्थििमरूमध्य  

(c) द्वीप 

(d) िाड़ी 
 

Q126. क्रदए गए कथिों A और B को पक्रढ़ए और सही उत्तर चुनिए: 

A. आिोचिात्मक सोच अविारणाओं के निमािण, नवचारों के अिुप्रयोग और नवस्तार को बढ़ावा देती ह।ै 

B. यह दसूरों के तकों और नवश्वासों को समझिे और उिका मूल्यांकि करिे में मदद िहीं करता ह।ै 

(a) A सत्य ह ैऔर B असत्य ह ै 

(b) A असत्य ह ैऔर B सत्य ह ै

(c) दोिों A और B असत्य हैं  

(d) दोिों A और B सत्य हैं  
 

Q127. निम्ननिनित में से कौि सा काि मािव इनतहास में सबसे िंबा ह?ै 

(a) पुरापाषाण 

(b) मेसोनिनथक 

(c) नियोनिनथक 

(d) मेगानिनथक 
 

Q128. क्रदए गए कथिों A और B को पक्रढ़ए और सही उत्तर चुनिए: 

A. मेहरगढ़ पाक्रकस्ताि के बोिि दरे के पास एक उपिाऊ मैदाि में नस्थत ह।ै 

B. यहां िेती और पशुपािि के साक्ष्य नमित ेहैं। 

(a) A सत्य ह ैऔर B असत्य ह ै 

(b) A असत्य ह ैऔर B सत्य ह ै

(c) दोिों A और B असत्य हैं  

(d) दोिों A और B सत्य हैं  
 

Q129. छठी शताब्दी ईसा पूवि में मगि महाििपद का प्रथम शासक था- 

(a) महावीर 

(b) प्रसेिनित 

(c) चबंनबसार 

(d) अिातशत्रु 
 

Q130. निम्ननिनित में से कौि बौि िमि के तीि रत्नों में से िहीं ह?ै 

(a) बुि 

(b) िम्म 

(c) अचहसंा 

(d) संघ 
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Q131. छात्रों को 'प्राकृनतक विस्पनत और वन्यिीव' नवषय स ेपररनचत कराि ेके निए, सबस ेअच्छा शैक्षनणक तरीका कौि सा 

होगा? 

(a) पाठ्यपुस्तक पढ़िा और चचाि। 

(b) नवषय पर एक वृत्तनचत्र की स्िीचिंग। 

(c) एक वन्यिीव अियारण्य का दौरा। 

(d) एक व्याख्याि के निए एक नवशेषज्ञ को आमंनत्रत करिा। 

 

Q132. सामानिक नवज्ञाि की पाठ्यपुस्तकों में काटूिि की क्या िूनमका ह?ै 

(a) बुनियादी मुद्दों को उठाता ह ैऔर इसे छात्रों स ेसंबंनित बिाता ह।ै 

(b) काटूिि के रूप में कोई िूनमका अपररपक्व िहीं ह।ै 

(c) मुख्य रूप स ेक्रििसि के रूप में उपयोग क्रकया िाता ह ैताक्रक पाठ्यपुस्तकें  आकषिक क्रदिें। 

(d) कक्षा को मिोरंिक बिाता ह ैक्योंक्रक नवषय उबाऊ ह।ै 

 

Q133. रंगिेद की प्रथा पर कथि A और B पर नवचार करें: 

A. यह िानतयों के बीच िेदिाव करता ह ैिेक्रकि वोट देिे के सिी अनिकार की अिमुनत देता ह।ै 

B. यह िानतयों के आपस में नमििे से रोकता ह ैिेक्रकि सिी को समाि सावििनिक सुनविाए ंप्रदाि करता ह।ै 

सही नवकल्प चिुें: 

(a) दोिों A और B असत्य हैं 

(b) केवि A सत्य ह ै 

(c) केवि B सत्य ह ै

(d) दोिों A और B सत्य हैं  

 

Q134. एक सामानिक नवज्ञाि नशक्षक का िक्ष्य होिा चानहए: 

(a) परीक्षा उत्तीणि करिा 

(b) रटिा याद 

(c) पररपे्रक्ष्य निमािण 

(d) पाठ्यिम पूरा करिा  

 

Q135. सामानिक और राििीनतक िीवि की पाठ्यपुस्तकों को नवकनसत करते समय निम्ननिनित में से क्रकस दनृष्टकोण पर 

नवचार क्रकया गया ह?ै 

A. ठोस उदाहरणों और अिुिवों के उपयोग के माध्यम से सीििा। 

B. त्यों और आंकड़ों के आिार पर प्रनतिारण के माध्यम से सीििा। 

(a) ि तो A ि B 

(b) केवि A 

(c) केवि B 

(d) दोिों A और B  

 

Q136. ओपि-बुक मूल्यांकि का मुख्य उद्देश्य क्या ह?ै 

(a) छात्र पाठ्यपुस्तक के अिसुार सटीक उत्तर दे सकत ेहैं। 

(b) छात्रों को सिी त्यों और नववरणों को याद करि ेके निए बोझ महसूस करि ेकी आवश्यकता िहीं ह।ै 

(c) नशक्षकों को िए प्रश्न तैयार करिे के निए अनतररक्त दबाव से गुिरिा िहीं पड़ता ह।ै 

(d) छात्रों को अनतररक्त क्रकताबें पढ़िे की िरूरत िहीं ह।ै 
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Q137. 'द मेककंग ऑि रीििि कल्चसि' नवषय के नशक्षण के बाद निम्ननिनित में स ेकौि सा सबसे अच्छा समापि कायि होगा? 

A. छोटे समूह की पररयोििाएं 

B. एक नवशेषज्ञ द्वारा िृत्य प्रदशिि 

C. प्रश्नोत्तरी प्रनतयोनगता 

D. कोिाि बिािा 
(a) B, C, D 
(b) A, B, C 
(c) A, B, D 
(d) A, C, D 
 

Q138. कल्पिा कीनिए क्रक आपको एक राज्य नवरासत में नमिा ह।ै आप अपिे राज्य को कैस ेनस्थर और समृि बिाएंग?े 

उपरोक्त प्रश्न के संदिि में, एक नशक्षक के रूप में आप नवद्यार्थियों का आकिि करत ेसमय क्रकस कौशि पर िोर देंग?े 

(a) तकि  करिे की क्षमता। 

(b) अिुिवों की तुििा करिा। 

(c) नवशे्लषण करिे की क्षमता। 

(d) नस्थनत स ेअिुमाि िगाए ंऔर िोि करें। 
 

Q139. पाठ्यिम के क्षेत्र में शानमि हैं 

(a) एक स्कूि की आतंररक गनतनवनियां 

(b) एक स्कूि की बाहरी गनतनवनियां 

(c) दोिों नवषय 

(d) उिमें स ेकोई िहीं 
 

Q140. सामानिक अध्ययि की पाठ्य पुस्तक के अिुसार होिी चानहए 

(a) िेिक 

(b) छात्र 

(c) नशक्षक 

(d) सरकार  
 

Q141. ब्िूम की पाठ योििा पर आिाररत ह ै

(a) उद्देश्य 

(b) सामग्री 

(c) प्रस्तुनत 

(d) उपरोक्त सिी  
 

Q142. पररयोििा वह उद्देश्यपूणि कायि ह ैिो सामानिक वातावरण में पूरी निष्ठा के साथ क्रकया िाता ह।ै यह कथि ह-ै  

(a) ब्िूम 

(b) िो एंि िो 

(c) िॉि िेवी 

(d) क्रकिपैरट्रक 
 

Q143. सामानिक अध्ययि का अध्ययि मािा िाता ह ै- 

(a) मिुर्षय के आर्थिक संबंि। 

(b) मिुर्षय के राििीनतक सबंंि। 

(c) मिुर्षय के सामानिक संबंि। 

(d) मिुर्षय के सामानिक िौगोनिक संबंि। 
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Q144. सामानिक अध्ययि के क्षेत्र में क्रकस त्य का अध्ययि क्रकया िाता ह?ै 
(a) सामानिक संबंिों का अध्ययि 

(b) मािव संबंिों का अध्ययि 
(c) िागररकता की नशक्षा 
(d) उपरोक्त सिी 
 
Q145. मूल्यांकि _____ की एक प्रक्रिया ह ै- 
(a) उद्देश्यों की उपिनब्ि की सीमा नििािररत करिा। 
(b) पररणामों की गुणवत्ता, मूल्य का पता िगािा। 
(c) निदेश के पररणामों की तिुिा करिा। 
(d) उपरोक्त सिी। 
 
Q146. सामानिक नवज्ञाि में नशक्षण अनिगम सामग्री का प्रयोग करते हैं - 
(a) पाठ को िंबा बिाता ह।ै 

(b) छात्र ऊब िाते हैं। 
(c) उपरोक्त दोिों कथि गित हैं। 
(d) उपरोक्त दोिों कथि (a) और (b) सत्य हैं। 
 
Q147. मूल्यांकि आयाम के तीि चरण हैं: 
1. शैनक्षक उद्देश्यों का नििािरण 
2. सीििे के अिुिव प्रदाि करिा 
3. व्यवहार पररवतिि का मूल्यांकि 
उपरोक्त चरण क्रदए गए हैं - 
(a) बी एस ब्िूम 
(b) हबिटि 
(c) नस्किर 
(d) थािििाइक 
 
Q148. एक नशक्षक िारत और संयुक्त राज्य अमेररका में कृनष अभ्यास केस स्टिी की व्याख्या करत ेहुए, वह सीिि ेके क्रकस पहि ू

पर ध्याि कें क्रित कर रहा ह-ै 
(a) अविारणा को समझिे की क्षमता 

(b) व्याख्या करिे की क्षमता 
(c) एक बेहतर पररयोििा बिािे की क्षमता 
(d) ठोस उदाहरण के माध्यम से तुििा और तुििा करके सीििे की क्षमता 
 
Q149. सामानिक समािता और अस्पृश्यता से निपटिे के दौराि, नशक्षण के निए सबसे उपयुक्त दनृष्टकोण क्या होिा चानहए- 
(a) पाठ्यपुस्तक में वर्णित अविारणा की व्याख्या करिा 
(b) अस्पृश्यता से संबंनित पाठ की समीक्षा करि ेके निए छात्रों को पररयोििा देिा 

(c) बच्चे के सामानिक और सांस्कृनतक पररवेश को बिािे वाि ेसमुदायों के अिुिव का हवािा देते हुए 
(d) अस्पृश्यता की प्रथा के बारे में नवस्तार से बताते हुए 
 
Q150. सामानिक नवज्ञाि के नशक्षण में बच्चों की िाविाओं को शब्दों से िहीं बनल्क दनृष्ट और ध्वनियों स ेसबसे आसािी स े

िगाया िाता ह,ै निसके निए नशक्षण का सबसे प्रिावी तरीका ह-ै 
(a) व्याख्याि नवनि 
(b) पररयोििा नवनि 
(c) क्षेत्र भ्रमण और सवेक्षण 
(d) कक्षा चचाि 
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Solutions 
 

S1. Ans.(b) 

Sol. The correct answer is option B, i.e., logical and rational thinking is not a characteristic of early 
childhood stage. The developmental characteristics of early childhood includes: increase in physical 

strength, use of motor skills to handle exterior environment, rapid development of language, perfection 
and practicing of existing skills, use of language for communication, illogical problem solving, prevalence 

of magical and fantasized thinking, parallel play (i.e., playing in presence of, rather than in interaction 
with, other children), imitation and learning of social roles, relations and practices, etc. 

 
S2. Ans.(c) 

Sol. The correct answer is option C, i.e., original and productive thoughts. Only statement in option C is 

correct, rest all are incorrect. Intelligence is not a process, but an ability to learn and understand the 

world and its complexities using one's thoughts and experiences, to effectively deal with the challenges of 

life. Its abilities include: adaptability to a new environment, ability to comprehend relationships ,capacity 

for reason and abstract thoughts, capacity for original and productive thoughts and ability to judge and 

evaluate. Intelligence is guided by reason and logic, thus there is no magical thought process involved in 
it. 

 
S3. Ans.(d) 

Sol. Dyspraxia affects physical coordination. It is not related to intelligence, but it can sometimes affect 
cognitive skills. Sometimes it is used interchangeably with developmental coordination disorder. It 

affects fine and gross motor skills, coordination, and motor planning. 
 

S4. Ans.(a) 

Sol. The correct answer is option A, i.e., Piaget. Jean Piaget has introduced the four distinct stages of a 
child's cognitive development. Piaget proposed that a human goes through four distinct stages in the 

procedure of development. The four developmental stages are- The Sensorimotor stage, the 
Preoperational stage, the concrete operational stage, and the formal operational stage. Through these 

four stages, he talks about the physical and mental development that occurs in a human body and how 

children acquire knowledge and it also understands the nature of intelligence 

 
S5. Ans.(d) 

Sol. A gifted child is one who has an 1Q score of 140 or above. The gifted child has an ability that lies 
within the range of the upper two or three percent of the population. The novelty in expression and 

curiosity are signs of giftedness 
 

S6. Ans.(c) 

Sol. When a teacher sings a rhyme in a language classroom, he/she is trying to familiarize the students 
with the sounds. The recurrence of the same sequence of sounds helps students to understand the sounds 

of language. 
 

S7. Ans.(c) 
Sol. Partial reinforcement is used at certain intervals or ratios of time, instead of reinforcing the behavior 

every single time. This form of scheduling reinforcement after a certain number of correct responses is 
also termed intermittent reinforcement. 
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S8. Ans.(d) 

Sol. Maslow's hierarchy of needs is a theory of motivation which states that five categories of human 

needs dictate an individual's behavior. Those needs are physiological needs, safety needs, love and 

belonging needs, esteem needs, and self-actualization needs. 

 

S9. Ans.(d) 

Sol. Heredity and environment are dependent, complementary and cooperative to each other 

 

S10. Ans.(b) 

Sol. Every child is active to make their experiences meaningful. He is trying to know whether his thoughts 

are harmonious or not. Children periodically search and build those behaviors and ideas. He never 

thought of ideas before. 

 

S11. Ans.(d) 

Sol. Irreversibility of thought 

 

S12. Ans.(b) 

Sol. The Holtzman inkblot technique, also known as the Holtzman inkblot test, is an ink blot test aimed at 

detecting personality and was conceived by Wayne H. Holtzman and colleagues. It was first introduced in 

1961 as a projective personality test similar to the Rorschach. The HIT is a standardized measurement. 

 

S13. Ans.(b) 

Sol. Projective methods use a standard set of stimuli, such as incomplete sentence, pictures or inkblots 

which are relatively ambiguous. Projective techniques allow respondents to project their subjective or 

true opinions and beliefs onto other people or even objects. The respondent's real feelings are then 

inferred from what s/he says about others. Projective techniques are normally used during individual or 

small group interviews. 

 

S14. Ans.(d) 

Sol. Main streams of RTTE 

Section-3: Free education up to 8th standard for children of 6 to 14 years. 

Section 4: Admission to class according to age. 

 

S15. Ans.(d) 

Sol. Exploration of relationships between concepts Is the most effective node of' leaching- learning. 

Effective teaching can be defined in many ways together with teacher behavior (warmth, civility, clarity). 

teacher knowledge (of subject matter of students), teacher beliefs, and so out Here we describe effective 

teaching as the ability to improve student achievement as shown by research. 

 

S16. Ans.(d) 

Sol. A teacher should analyze the various errors made by students on a given task because understanding 

of errors is meaningful m the teaching – learning process. In order to have mastery of their teaching 

content, they should appreciate how student's best learning concepts, content and skills. Effective 

teachers use their knowledge of learning processes to determine which will be most effective to help the 

particular students in their classes learn productively. 
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S17. Ans.(b) 

Sol. Conceptual understanding among students is likely to improve in the settings which emphasis on 

inquiry and dialogue. According to Conceptual understanding among students is likely to improve in the 

setting which emphasize on. (1) Inquiry and dialogue. (2) Competitions. 

 

S18. Ans.(c) 

Sol. It is difficult to learn when information is presented in disconnected chunks because it becomes 

difficult for a child to connect the diverse concepts. Emotions are inextricably intertwined with 

motivation and learning hence presenting disconnected chunks of knowledge would deviate the attention 

of the child. 

 

S19. Ans.(d) 

Sol. Scaffolding for learning implies that Instructional scaffolding is a procedure through which a teacher 

adds supports for students in order to improve learning and aid in the mastery of tasks. The teacher does 

this by methodically building on students experiences and knowledge as they are learning new skills. 

 

S20. Ans.(a) 

Sol. The correct answer is option A, i.e., Children with 'dyslexia' can be identified by analyzing their 

reading and writing skills. Dyslexia is a disability to read and write things properly. The disability due to 

weakness in phonological processing with poor self-expression is called dyslexia. Learners with dyslexia 

face trouble with word recognition, differentiating between left and right, remembering new vocabulary, 

delayed ability to speak, poor spelling, poor in sequence and numbers, etc. 

 

S21. Ans.(b) 

Sol. The correct answer is option B, i.e., A child-centered classroom is one in which the teacher is flexible 

and caters to needs of individual children. A teacher uses rewards and punishments to direct children's 

behavior in Skinner's theory of behaviorism and conditioning. A teacher segregates the children based on 

their abilities to help child with special needs. This is called ability-grouping. 

 

S22. Ans.(b) 

Sol. The correct answer is option B.-Bodly-kinesthetic - Athlete. The Theory of Multiple Intelligence was 

given by Howard Gardner. His book, "Frames of Mind: The Theory of Multiple Intelligence" proposed 

eight theories of intelligence. He believed that development of intelligence is affected by both biological 

and cultural aspects 

 

S23. Ans.(a) 

Sol. Students with physical disability is one of term applicable with the Right to persons with disabilities 

act 2016. In this act every person with or without any physical disability has a right to education. 

 

S24. Ans.(c) 

Sol. The children in formal operational stage are capable of hypothetical-deductive reasoning and 

propositional thought. Piaget gave four stages of cognitive development of children: Sensorimotor Stage, 

Pre-Operational Stage, Concrete Operational Stage and Formal Operational Stage.  

 

S25. Ans.(c) 

Sol. G. W. Allport- This definition was given by Allport in relation to personality. 
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S26. Ans.(c) 
Sol. Learning from one situation to another. Influencing its learning and performance in a situation is 
called learning transfer. 
 
S27. Ans.(c) 
Sol. Guilford (1959, 1961, 1967) and his colleagues presented an explanation of the structure of 
intelligence on the basis of three mental abilities. This intelligence structure theory of Guilford is called 
the three-pronged intellectual model.  
 
S28. Ans.(c) 
Sol. The use of brainstorming model for teaching is used to improve creativity. 
 
S29. Ans.(c) 
Sol. The needs to work in his social development as he is physically fit and scores good marks yet he gets 
punishment for not well behaving in class. 
 
S30. Ans.(a) 
Sol. Vygotsky was a Russian psychologist. His research was related to the development and structure of 
human consciousness. Vygotsky emphasized on the cognitive psychological approach. From the 
perspective of cognitive development.  
 
S31. Ans.(d) 

Sol. ‘मैं नशवा के निए चाय बिा रहा ह’ँ इस वाक्य में संप्रदाि कारक ह।ै संप्रदाि कारक -निसे कुछ क्रदया िाए या निसके निए 

क्रिया की िाए, उसे संप्रदाि कारक कहत ेहैं।इसके दो नचह्ि हैं ‘को’ एवं ‘के निए’। उदाहरण - अनमत ि ेनििारी को वस्त्र क्रदए। मैं 

गुरुिी के निए िि िाया। 

 
S32. Ans.(d) 

Sol. ‘नगरीश’ शब्द में दीघि संनि ह।ै दीघि संनि -िब दो शब्दों की सनंि करत ेसमय (अ, आ) के साथ (अ, आ) हो तो ‘आ‘ बिता ह,ै 

िब (इ, ई) के साथ (इ, ई) हो तो ‘ई‘ बिता ह,ै िब (उ, ऊ) के साथ (उ, ऊ) हो तो ‘ऊ‘ बिता ह।ै 

िैसे: पुस्तक + आिय : पुस्तकािय बिता ह।ै यहाँ अ+आ नमिकर आ बिाते हैं। 

 
S33. Ans.(c) 

Sol. इस वाक्य में ‘महािारत’ का प्रयोग एक क्रकताब के रूप में हुआ ह ैइसनिए यह एक व्यनक्तवाचक सजं्ञा ह।ै व्यनक्तवाचक सजं्ञा 

- िो शब्द केवि एक व्यनक्त, वस्तु या स्थाि का बोि कराते हैं उि शब्दों को व्यनक्तवाचक संज्ञा कहते हैं। िसैे- िारत, चीि 

(स्थाि), क्रकताब, साइक्रकि (वस्तु), सुरेश,रमेश,महात्मा गाँिी (व्यनक्त) आक्रद।  

 
S34. Ans.(c)  

Sol. ’सवेक्षण’ शब्द का संनि नवच्छेद ‘सवि + ईक्षण’ ह।ै  

 
S35. Ans.(b) 

Sol. वह कौि ह ैिो रो पड़ा। इस वाक्य में संबंिवाचक सवििाम का प्रयोग हुआ ह।ै निस सवििाम स ेवाक्य में क्रकसी दसूरे 

सवििाम से सम्बन्ि ज्ञात होता ह ैउसे सम्बन्िवाचक सवििाम कहते हैं। िैस े: िो-सो, िहाँ-वहाँ, िसैा-वैसा, िौि-तौि । 

 
S36. Ans.(c) 

Sol. गेह ँएक तद्भव शब्द ह ैइसका तत्सम शब्द गोिूम ह।ै अन्य तीिों तत्सम शब्द हैं। 
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S37. Ans.(a) 

Sol. ‘यथावनि’ का सामानसक नवग्रह ‘अवनि के अिुसार’ ह।ै इसमें अव्ययीिाव समास ह।ै अव्ययीिाव समास - इस समास में 

पहिा पद (पूवि पद) प्रिाि होता ह ैऔर पूरा पद अव्यय होता ह,ै इसमें पहिा पद उपसगि होता ह ैिसै ेअ, आ, अि,ु प्रनत, हर, िर, 

नि, निर, यथा, यावत आक्रद उपसगि शब्द का बोि होता ह ै

 
S38. Ans.(c) 

Sol. ‘मैं िािता ह ँकी तुम्हारे अक्षर अच्छे िहीं बिते’ यह एक नमनित वाक्य ह।ै नमनित वाक्य – निि वाक्यों में एक मुख्य या 

प्रिाि वाक्य हो और अन्य आनित उपवाक्य हो, उन्हें नमनित वाक्य कहते हैं।  

 
S39. Ans.(a) 

Sol. ‘अट्टहास’ संनक्षप्तीकरण ह ै-‘निस हसँी से अट्टानिका िी नहि िाये’।  

 
S40. Ans.(d)  

Sol. शब्द की शुि वतििी ह ै– अमािुनषक।  

 
S41. Ans.(b): 

Sol. यहाँ ‘सारे देशिर में अकाि ह’ै के स्थाि पर ‘सारे दशे में अकाि ह’ै का प्रयोग उनचत ह।ै  

 
S42. Ans.(c): 

Sol. ‘ऐसी उनक्त िो परंपरागत हो’ इस वाक्यांश के निए एक शब्द ‘अिुिुनत’ ह।ै  

 
S43. Ans.(d): 

Sol. ’िूि का घूंट पीिा’ मुहावरे का अथि िोि दबािा ह।ै  

 
S44. Ans.(d): 

Sol. ‘को’ सम्प्रदाि कारक की नविनक्त ह।ै  

 
S45. Ans.(c): 

Sol. ‘नचट्ठी’ शब्द में नद्वत्व का प्रयोग हुआ ह।ै नद्वत्व का अथि = यक्रद दो समाि व्यिंिों के बीच कोई स्वर ि हो तो वह व्यिंि-गचु्छ 

नद्वत्व कहिाता ह।ै िैसे अड्डा, पट्टी, बच्ची, कुत्ता आक्रद।  

 
S46. Ans.(c): 

Sol. यहाँ ‘टेढ़ा’ शब्द का प्रयोग उनचत ह।ै यह एक मुहावरा है, "घी का िड्िू टेढ़ा ििा " का तात्पयि ह ैक्रक गुणवाि व्यनक्त या 

वस्तु का रूप, रंग िहीं देिा िाता, उसकी नवशेषता देिी िाती ह ै। 

 
S47. Ans.(a): 

Sol. ’पररर्षकार’ शब्द का संनि नवच्छेद ‘परर : + कार’ ह।ै  

 
S48. Ans.(d): 

Sol. अिुकूि शब्द में ‘अि’ उपसगि िहीं ह ैइसमें ‘अिु’ उपसगि ह।ै  

 
S49. Ans.(d): 

Sol. शब्द की शुि वतििी ह ै– ‘स्पृहा’।  
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S50. Ans.(c):  

Sol. ‘पनवत्र’ शब्द में अयाक्रि संनि ह,ै पनवत्र = पो + इत्र।  

 
S51. Ans.(a) 

Sol. मौि वाचि वह वाचि ह ैिो गध्य मे प्रयुक्त होता ह,ै परंतु पध्य मे िहीं। गध्य वाचि मे व्यनक्त मौि रहकर िी पाठ को पढ़ 

सकता ह,ै िेक्रकि पध्य वाचि मे बािक को कनवता पाठ करिा होगा िो मौनिक वाचि के अंतगित आएगा।  

 
S52. Ans.(a) 

Sol. आगमि नवनि उदाहरण से नियम की ओर नशक्षण सूत्र पर आिाररत है, आगमि नवनि कक्षा नशक्षण की महत्वपूणि नवनि है, 

इस नवनि मे नवषयवस्त ु के प्रस्तुतीकरण के दौराि सबसे पहिे उदाहरण क्रदए िाते है, उसके बाद सामान्य नसिांत का 

प्रस्तुतीकरण क्रकया िाता ह।ै  

 
S53. Ans.(d) 

Sol. िाषा अनिगम का कारण ह-ै िाषा नवज्ञाि, व्याकरण और िाषा कौशि आक्रद।अनिगम का अथि है, सीििा एंव अििि का 

तात्पयि ह ैअर्िित करिा, अनिगम को प्रिानवत कायि वािे कारक है-बुनि, स्वास््य, वातावरण और पररपक्वता ।  

 
S54. Ans.(a) 

Sol. नहन्दी वणिमािा स्वर और व्यंिि से नमिकर बिती ह।ै नहन्दी मे वणों की कुि सखं्या 52 है, निस्म 11 स्वर और 41 व्यिंि 

होते ह।ै आइ वणों के व्यवनस्थत एंव िमबि समूह को वणिमािा कहती ह।ै वणि नहन्दी िाषा की सबसे छोटी एकाई होती ह।ै  

 
S55. Ans.(c) 

Sol. बािक को अपिे पाठ मे प्रस्ताविा से पता चिता ह ैकी उस ेक्या पढ़िा ह।ै प्रस्ताविा मे पाठ मे क्या क्या पढ़िा होता है, 

बच्चे को पता चि िाता ह ैकी पाठ क्रकस बारे मे ह।ै  

 
S56. Ans.(b) 

Sol. ध्वनि नवज्ञाि का संबंि िवण कौशि से ह।ै ध्वनि का अथि आवाि ह,ै और आवाि सुिी िाती ह,ै िवण कौशि के द्वारा ।  

 
S57. Ans.(d) 

Sol. वाक्य रूप,सूत्र रूप और कहावत का रूप, तीिों ही सरंचिा के रूप ह।ै  

 
S58. Ans.(a) 

Sol. बािक सविप्रथम िाव प्रदशिि सीिता ह,ै सबसे पहिे बच्चा िब बोि िहीं पता, वह अपिे नवचारों को िाव प्रदशिि द्वारा ही 

व्यक्त करता ह,ै उसके बाद ही वह चििा, पढ़िा,निििा आक्रद अन्य क्रियाए सीिता ह।ै  

 
S59. Ans.(d) 

Sol. संरचिात्मक पिनत पर छात्रों की क्रियाशीिता, उिके नवचारों, उिके वाचि तथा उिके िाषाई नवकास पर पूरा ध्याि क्रदया 

िाता ह।ैसंरचिवादी तरीके को नवनिन्न क्षेत्रों िैस ेसमािसत्र, सानहत्य ,आिोचिा मे िी िागू क्रकया िाता ह ै।  

 
S60. Ans.(a) 

Sol. एक समावेशी कक्षा मे ऐसा िरूरी िहीं की बच्चा िब व्याकरण के नियम सीिेगा तब ही उसका िाषा का नवकास िल्दी 

होगा, व्याकरण सीिि ेसे उसका नवकास और अच्छा होगा पर यह िरूरी िहीं की िल्दी होगा।  

 
S61. Ans.(b) 
Sol. The correct sequence is ‘QPRS’. 
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S62. Ans.(b) 
Sol. The correct sequence is ‘PRQS’. 
 
S63. Ans.(c) 
Sol. The correct sequence is ‘RQPS’. 
 
S64. Ans.(c) 
Sol. Pull back: to back away, withdraw, or retreat. 
 
S65. Ans.(b) 
 
S66. Ans.(d) 
Sol. Damper: a person or thing that has a subduing or inhibiting effect. 
Crusader: a person who campaigns vigorously for political, social, or religious change; a campaigner. 
 
S67. Ans.(b) 
Sol. Dud: not working or meeting standards; faulty. 
Hideous: extremely unpleasant. 
 
S68. Ans.(a) 
Sol. Setback: a reversal or check in progress. 
Lowbrow: not highly intellectual or cultured. 
Backlash: a strong negative reaction by a large number of people, especially to a social or political 
development. 
 
S69. Ans.(d)  
 
S70. Ans.(b) 
Sol. “Hardly + did + subject + V1 +………..When + ……”is the correct format of inversion case.  
 
S71. Ans.(c) 
Sol. The structure of the sentence will be as follows: ‘Have + Subject + been + Verb + ing?’ The sentence is 
in Present Perfect Continuous Tense. 
 
S72. Ans.(a) 
Sol. In ‘if’ condition ‘Had + verb’s 3rd form’ is followed by ‘would have + verb’s 3rd form’. 
 
S73. Ans.(d) 
 
S74. Ans.(b) 
 
S75. Ans.(c) 
Sol. ‘Please’ is changed into request when changing into indirect form. Here indirect form has request in 
it so ‘please’ has to come in direct form.  
 
S76. Ans.(d) 
Sol. Present continuous is change into past continuous in indirect form. 

http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


31       www.teachersadda.com    |   www.sscadda.com   |    www.bankersadda.com     |    www.adda247.com 

 
 

 
S77. Ans.(c) 
Sol. Since the given sentence is an ‘order’ hence only option (c) is apt. 
 
S78. Ans.(b) 
Sol. An active voice in Present Indefinite tense changes into passive voice as follows: 
Verb in active voice: V1 
Verb in passive voice: is/are/am + V3 
 
S79. Ans.(c) 
 
S80. Ans.(a) 
Sol. An active voice in Past continuous tense changes into (was/were+ being + V3) while converting it 
into a passive voice. 
 
S81. Ans.(c) 
Sol. Refer to “ The Blue Flag programme for beaches and marinas is run by the international, non-
governmental, non-profit organisation FEE (the Foundation for Environmental Education)”. 
 
S82. Ans.(a) 
Sol. Refer to the first line of the passage “The Union Environment Ministry has selected 12 beaches in 
India to vie for a ‘Blue Flag’ certification”. 
 
S83. Ans.(c) 
Sol. Refer to the last paragraph “India is set to apply for certification for two beaches, at Shivrajpur and 
Ghoghla, by July-end”. 
 
S84. Ans.(a) 
Sol. Refer to “Spain tops the list with 566 such beaches; Greece and France follow with 515 and 395, 
respectively”. 
 
S85. Ans.(b) 
Sol. Greece has 515 ‘Blue Flag’ certified beaches while France has 395 such beaches. 
 
S86. Ans.(c) 
Sol. Replace 'resorting' with 'resort' because modals (should, would, could....) take first form of verb. 
 
S87. Ans.(c)  
Sol. The word ‘the’ after ‘for’ is to be inserted. Here we are pointing towards a particular industry so it 
should be made specific thus it should be “the entertainment industry”. 
 
S88. Ans.(b) 
Sol. ‘solutions’ should be replaced by ‘solution’ so that the sentence becomes correct because only one 
solution has been provided in the statement.  
 
S89. Ans.(c) 
Sol. “The number” takes singular verb with it, thus, in part (c) “are” should be replaced with “is”. 
 
S90. Ans.(a) 
Sol. Here, In spite of the fact that/ Despite the fact that…. should be used.  
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S91. Ans.(d) 
Sol. 44th Amendment to the Constitution of India was made during the period of Morarji Desai in 1978. 
 
S92. Ans.(c) 
Sol. total land area of the earth is 29% and the area of water is 71%. 
 
S93. Ans.(b) 
Sol. layers of atmosphere are: 
• Exosphere 
• Thermosphere 
• Mesosphere 
• Stratosphere 
• Troposphere 
The lowest layer of atmosphere is Troposphere. 
 
S94. Ans.(b) 
Sol. Doab of Ganga – Yamuna was the central place of Aryan Culture during Later Vedic Age. 
 
S95. Ans.(a) 
 
S96. Ans.(d) 
Sol. We find the description of neighbor countries on the thirteenth major rock edict of the emperor 
Ashoka. 
 
S97. Ans.(c) 
Sol. In 1913 Pacific Coast Hindustan association was founded by Lala Hardayal with Sohan Singh Bhakna 
as its president, which was called Ghadar Party. 
 
S98. Ans.(a) 
Sol. Kalinjar fort was the last expedition of Shershah. 
 
S99. Ans.(b) 
Sol. The Preamble declares that fraternity has to assure two things: The dignity of the individual and the 
unity and integrity of the nation. 
The word ‘integrity’ has been added to the Preamble by the 42nd Constitutional Amendment (1976). 
 
S100. Ans.(a) 
Sol. On the basis of Sardar Sawaran singh Committee’s recommendations the fundamental duties have 
been incorporated in Indian Constitution. 
 
S101. Ans.(b) 
Sol. The earliest reference to sati custom is made in Eran inscription of Bhanugupta. 
 
S102. Ans.(b) 
Sol. The Bibi Ka Maqbara is a tomb located in Aurangabad, Maharashtra, India. It was commissioned by 
Aurangzeb's Son Azam in the memory of his Mother Dilras Banu Begum. 
 
S103. Ans.(a) 
Sol. The title of Mahatma was bestowed on Gandhiji by Rabindranath Tagore. 
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S104. Ans.(b) 
Sol. On April 3, 1926 Lord Irwin was appointed 30th Viceroy and Governor-General of India. This was the 
most tumultuous period for the politics of India. During this period the important events were Visit of 
Simon Commission (1928), Nehru Report (1928), Jinnah’s 14 Points, Murder of Saunders in 1929 etc. 
 
S105. Ans.(b) 
Sol. In January 1615, Sir Thomas Roe presented his credentials to the emperor Jahangir as the 
Ambassador of the King of England. 
 
S106. Ans.(b) 
Sol. The Partition of Bengal -1905 
The Lucknow Pact -1916 
The Rowlatt Act -1919 (March) 
The Introduction of Dyarchy-1919 (December) 
 
S107. Ans.(c) 
Sol. Gopal Krishna Gokhale was one of the social and political leaders during the Indian Independence 
Movement against the British Empire in India. Gokhale was a senior leader of the Indian National 
Congress and founder of the Servants of India Society. 
 
S108. Ans.(b) 
Sol. Thermal power is the biggest contributor of electricity generation in India. India had a thermal 
power generating capacity of 220570 MW at the end of Apr 2017. 
 
S109. Ans.(a) 
Sol. India has the highest number of tubewells. 
 
S110. Ans.(a) 
Sol. Western disturbance refers to a system of low pressure that moves from west to east, bringing 
moisture from Eurasian water bodies, and is responsible for winter rain in northwestern India and 
snowfall in the Himalayan tracts. It usually brings rain during the winters but also during the pre-
monsoon period. Punjab receives rainfall due to western disturbances. 
 
S111. Ans.(a) 
Sol. A rain shadow is a dry area on the leeward side of a mountainous area (away from the wind). Deccan 
Plateau falls in a rain shadow area thus it receives scanty rainfall. 
 
S112. Ans.(a) 
Sol. Space between Earth and Moon is known as Cislunar. Pertaining to the space between the earth and 
the orbit of the moon. 
 
S113. Ans.(b) 
Sol. Governor should be man outsider, that is, he should not belong to the state where he is appointed, so 
that he is free from then local politics. 
 
S114. Ans.(d) 
Sol. The Parliament has exclusive powers to make laws with respect to any of the matters in the Union 
List. This list has at present 100 subjects (originally 97 subjects) like defence, banking, foreign affairs, 
currency, atomic energy. 

http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


34       www.teachersadda.com    |   www.sscadda.com   |    www.bankersadda.com     |    www.adda247.com 

 
 

 
S115. Ans.(b) 
Sol. The Karachi session was presided by Sardar Patel. The congress adopted a resolution on 
Fundamental Rights and Economic Policy which represented the Party’s Social, Economic and Political 
programme. It was later known as Karachi Resolution and Nehru had originally drafted it. 
 
S116. Ans.(a) 
Sol. The Poona Pact was the agreement between Mahatma Gandhi and Dr. Br Ambedkar reached on 25 
September 1932. It has provision of reservation of seats in the provincial legislatures and adequate 
representation in civil services. 
 
S117. Ans.(b) 
Sol. On 11 September 1930, the personnel of the Round Table Conference were announced. The 
conference was opened officially by King George V on November 12, 1930 in London. It was chaired by 
British PM Ramsay MacDonald. 
 
S118. Ans.(a) 
Sol. Green Revolution impact is mostly felt on wheat.The Green Revolution in India refers to a period 
when agriculture in India improved due to the adoption of novel methods and technology in agriculture. 
 
S119. Ans.(b) 
Sol. The godavari river is the largest river of south India, it has length of 1465 Kilometers, it originates 
from Triambakeshwar in Maharashtra. 
 
S120. Ans.(c) 
Sol. The Great Himalayan National Park (GHNP), is one of India's national parks, is located in Kullu region 
in the state of Himachal Pradesh. The park was established in 1984. 
 
S121. Ans.(c) 
Sol. The Nuclear Fusion Reaction is the basis on which sun releases light and heat. Inside the Sun, this 
process begins with protons which is simply a lone hydrogen nucleus and through a series of steps, these 
protons fuse together and are turned into helium. This fusion process occurs inside the core of the Sun. 
 
S122. Ans.(d) 
Sol. The Attorney General for India is the Indian government's chief legal advisor. The Attorney General 
(AG) is appointed by the president. He has the right to speak and to take part in the proceedings of both 
the Houses of Parliament, but without a right to vote. 
 
S123. Ans.(a) 
Sol. Central Bureau of Intelligence and Investigation is listed in the Union list given in Seventh Schedule 
in the Constitution of India. 
 
S124. Ans.(d) 
Sol. Prorogue is the termination of a session of Rajya Sabha or Lok Sabha.It is done by the President. 
 
S125. Ans.(b) 
Sol. Isthmus is also a narrow strip of land joining two land masses. 
The two most famous isthmuses are the Isthmus of Panama, connecting North and South America, and 
the Isthmus of Suez, connecting Africa and Asia. 
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S126. Ans.(a) 
Sol. A is true but B is false. 
Critical thinking promotes the building of concepts, application and expansion of ideas. 
It does help in understanding and evaluating arguments and beliefs of others. It improves attention and 
observation. 
 
S127. Ans.(a) 
Sol. The Palaeolithic period extends from 2 million years ago to about 12,000 years ago. 
 
S128. Ans.(d) 
Sol. Both statements are true. 
Mehrgarh is located in a fertile plain near bolan pass of Pakistan. Evidence of farming and herding are 
found here.  
Mehrgarh was probably one of the places where women and men learnt to grow barley and wheat, and 
rear sheep and goats for the first time in this area. 
 
S129. Ans.(c) 
Sol. The first ruler of magadha mahajanapadas in the 6th century BC was Bimbisara. 
Bimbisara, Ajatasattu and Mahapadma Nanda are the best known, and their ministers, who helped 
implement their policies. 
 
S130. Ans.(c) 
Sol. The three jewels of Buddhism are - buddha,dharma and sangha . They are known as Triratnas. 
 
S131. Ans.(c) 
Sol. Visiting the wildlife sanctuary will be the best pedagogical method in the context as it is associated 
with the field trip approach. 
 
S132. Ans.(a) 
Sol. Social Science Textbook: The textbook consists of two more chapters regarding rural and urban 
livelihood. 
• The textbook should help in achieving the purpose of learning social science. 
• The textbook should have a clear and self-explanatory arrangement. 
• The cartoons used in the social science textbook raise basic issues and make it relatable to students. 
• A cartoon is an effective technique to develop critical and reflective thinking by creating interest. 
• It consists of both visualization and motion and makes the child familiar with the issues by raising it 

in an attractive way. 
 
S133. Ans.(a) 
Sol. The issue of Apartheid has been a matter of global concern since 1940s. 
• Apartheid is an African word. 
• It denotes a state apartness, segregation or separation among different races, believing in the ideology 

that racial differences are fundamental and different races should be uplifted socially, economically 
and politically. 

• Apartheid in practice means separate and unequal. 
• They were physically separated from one another. They did not have the right to vote and they were 

denied their citizenship. 
• In South Africa, white domination operates in all spheres. Only whites can vote, all members of 

parliament, all government ministers, all senior civil servants and all judges are white.  
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S134. Ans.(c) 
Sol. Social Science is a branch of Science that deals with human behavior and social relationships, which 
rely primarily on empirical approaches. 
The social science encompasses diverse concerns of society and includes a wide range of content drawn 
from the disciplines of history, geography, political science, economics and sociology. 
A social science teacher should aim towards ‘building perspective’. 
• It will help learners in developing a thought process and coming forward with new innovative ideas. 
• The student will have a preconceived notion of any concept which will help them in grasping the ideas 

effectively.  
 
S135. Ans.(b) 
Sol. Social and Political Life, as its name suggest, focuses on topics related to social, political and 
economic life in contemporary India. This subject recognizes that children learn best through concrete 
experiences. 
Approaches like learning through use of concrete examples and experiences should have been considered 
while developing social and political life textbooks as Social and Political Life: 
• Focuses on real situations to teach concepts 
• Develops learners abilities of critical understanding 
• Uses case studies and narratives to explain concepts. 
• Avoids the use of definitions to sum up a concept. 
• Uses material that draws upon experimental understanding. 
 
S136. Ans.(b) 
Sol. Open Book Evaluation: 
• It refers to an exam that allows students to bring their books or notebooks in the exam and to consult 

their books while answering questions. 
• Open book evaluation tests the skills of problem-solving and critical thinking rather than memorizing 

the given facts of textbooks. 
• The main purpose of this type of evaluation is to reduce and eliminate the burden of rote 

memorization and to teach students how to take information and apply it in a thoughtful, deep 
manner. 

 
S137. Ans.(d) 
Sol. Social Science as a discipline has the unique capability of being able to look at both development and 
normative issues of the society. It includes disciplines of History, Geography, Political Science, Economics 
and Sociology. 
• The teaching of Social Science requires the use of non-textual source like diagrams, maps, etc. It 

studies human behavior and enhancing vision or perspective about society. 
 
S138. Ans.(d) 
Sol. Assessment is a process of collecting, receiving and using data for the purpose of improvement in the 
learning process. It assesses both scholastic and co-scholastic aspects of a child’s growth. 
In the above-mention situation, inferring and extrapolating from the situation would be the best skill to 
be emphasized while assessing the students. 
Inferring and extrapolating from the situation helps students: 
• To reach a proposition by deriving the logical consequences of an assumed thesis. 
• To observe a present situation to guess or predict about what might eventually happen. 
• To make an inference about the hypothetical situation based on known facts and information. 
• To reach a conclusion which is drawn from evidence and reasoning by using imaginative thinking. 
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S139. Ans.(c) 
Sol. Area of curriculum includes: 
• Internal activities of a school 
• External activities of a school. 
 
S140. Ans.(b) 
Sol. Social Studies text book should be according to the student. 
 
S141. Ans.(a) 
Sol. Bloom’s lesson plan is based on objectives 
 
S142. Ans.(d) 
Sol. The project is that purposeful work which is done with complete devotion in the social atmosphere. 
This statement is given by Kilpatrick. 
 
S143. Ans.(d) 
Sol. Social studies is supposed to study of 
• Economical relations of man 
• Political relations of man 
• Social relations of man 
• Social geographical relations of man 
Hence, Option (d) will be the correct answer. 
 
S144. Ans.(d) 
Sol. All of the given options are the fact which is studied under the area of social studies. 
 
S145. Ans.(d) 
Sol. Evaluation is a process of: 
• Determining the extent of the achievement of objectives 
• Ascertaining the quality, value of outcomes 
• Comparing the outcomes of instruction 
 
S146. Ans.(c) 
Sol. Teaching-learning materials enable the teacher to express the intended concepts of learning 
effectively. Teaching aids in social studies helps in illustrating natural phenomena like volcano, rain 
earthquake etc. Teaching aid in social studies teaching helps to define an idea, concept in a better way. 
 
S147. Ans.(a) 
Sol. The three stages of evaluation of dimensions was given by B. S. Bloom which are: 
1. Determination of Educational objectives 
2. Providing learning experiences 
3. Evaluation of Behavioural changes 
 
S148. Ans.(d) 
Sol. While explaining agriculture case study of India and USA, a teacher should teach by comparing and 
contrasting through concrete, student can compare the agricultural condition of USA and Indian, they can 
develop their own way of learning. 
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S149. Ans.(c) 
Sol. While teaching the students about social equity and untouchability teacher should hive the give the 
real life experience about the society in which children are live. They can relate themselves. 
 
S150. Ans.(c) 
Sol. The best method for teaching with sights and sounds is by Field trips and surveys they can easily 
understand. 
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